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2 11-2 Practice Problems A O

" 1. Determine the rs /esof lithium hydroxide
produced when 0.38"" of lithium nitride
reacts with water according to the
following equation:

Li;N + 3H,0 — NH, + 3LiOH

2, HODMM\ melesof sodium chloride 1is
produ\ced when chlorine reacts with
0.29%*f sodium iodide?
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Determine the rN‘l‘ of carben dicxide
produced when 0.85 wlof butane reacts
with oxygen according to the following
equation:

2C.Hjpo+ 130, —» 8CO, + 10H,0

w

4 Determine themo(30f antimony produced
when 0.46'«'\of antimony(III} oxide reacts
with carbon according to the following
equation:

Sb,0, +3C — 25b + 3CO

. thad ménu ot hydrogen peroxide (F;,0,)
must decompose to produce O.WM of

water?
h + 0

},0, =

w

6. \w ﬂ\gf carbon monoxide must react
with oxygen to produce 0.69p#or carbon

dioxide?
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7. Determine the No(f«, of sodium nitrate
produced when 0.73 b nickel(Il) nitrate
reacts with sodium hydroxide according
to the following equation:

Ni(NO,), + 2NaOH — Ni(OH), - 2NaNO;

8. Determine the MJ/CS of calcium
hydroxide produced when calcium
carbide reacts with 0.64m! of water
according to the follewing eguation:

CaC, + 2H,0 —~ Ca(CH), - C,H,

9. How many amoled of ozore (O;) must
decompose to produce 0.87yV0f oxygen?

ﬁ Find the mass of sugzr (CgH;,0)
reﬁred to produce 1.82 L of carbon
dioxide gas at STP from the reaction
described by the following eguation:
CgH,;,0; — 2C,HO +2C0,

IX‘ How many liters of oxygen are necessary

for the combustion of 425 g of sulfur,
assuming that the reaction occurs at STP?
The balanced equation is S + O, =+ SO,

/' Find the mass of benzene (C;H¢) required
to produce 2.66 L of carbox: dioxide gas at
STP from the reaction described by the
following equation:

2C H, + 150, = 6H,0 + 12CO,
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